118-020( 7-005-2) (1/2)

118-020

cm

10(20

10(20(30

0.30 0.3

=]
s
S
o
S
o
S
N
S
o
S
LR

0-900-80 47y
! VAV 1.15
IAVAVAWAWAY
A\VAVAVAVAV
IAVAVAWAWAY 1.45
VAVAVAVAY]
ANAAN
2 VAV 2.15
AAAAN
VAV 112
IAVAVAWAWAY 2.45
VAVAVAVAY]
. ANAAN
VAV
ANANAN 1215

H
B~
u~e
8o

NN

SN

(VAVAVAVAY]
NAAAN
(VAVAVAVAY]

4 ANAAAN 4.15
(VAVAVAVAY]
NN s 11102
(VAVAYAYAY] .
NN
(VAVAVAVAY]
5 IAVAVAYAYAY 5.15
(VAVAVAVAY]
NAAAN 111
(VAVAVAVAY] 6.10 |54
5.80 4.9\ N A .

1\
6 i 6.15

|

I

&
PLLELILL

ERES

N
Ny
BN

3.5

7.15 10

5 \

IS

&

o~

I~

S~

)
/‘\"-—‘o—
LLLIL

\.
N
&
LLLLLLLL

50

171 33 20 75

P o1 " E
S e e / 3
o 4|5 |6 |30]| 1 =
e v 8.45 =
S =
AP y
SSSS 1218 / \\
S 46 |8 |30]| 1
OOOOO 9-45 \
Oéoéo 10.15 50 —
070x 0 — / =
“0-0- 10 |10 21 |30 50 \ =
0:0:0 10.45 =
00O~ E
ObOéO 50 -
5767 ¢ 11.15 7 -
95959 14 | 36 20| 73 —N E
070x 0 11.35 3
c0-0- =
07070 E
20 | 50
12.15 =
[12.15 7|7
10|20]5[2] 6 -
12.40 E
20 | 50 =
13.15
[H-13) 7|7
11|19 6 | 26|57.7 —
14.15 v 3
14,35 //;;> =

15.15 34

H
&
IS
&
LLLIL

19.50 5.10 9%
- 20.15 22150
- 12 |16 | 4 | 24 |62.5

20.90 1.4

- 16.15 15 ] %0 E
- 14 | 21 | 4 | 24 |62.5 A 3
- 16.39 3
- 20 | 50 =
_ |17.15] 7| =
- 12118 6 | 26 |57.7 =
- 17.41 =
- 18.15 40 =
— / =
- 8 |12]20[30| 49 =
- 18.45 =
- 19.15 3 |50 =
-z |19.151 /|7
- 14 133] 1 [ 21]71.4 A

AN



N
=

N
N

N
[N

N
PN

20.90

24.40

1216 4 |24

20.39
21.15 vaN;
120 4|2

21.39
50
22.15 /
20 | 30 20

22.35
17 | 50
23.15 1
13]20| 6 |2

23.41
21 | 50
24.15 AN
13|16|5 |25

62.5|

118-020( 7-005-2) (2/

2

)

62.5|

L

L L)




